
 

Page 1 of 12 
 

cfwf/e"t tx k/LIff @)*! 

Basic Level Examination 2024 

lj1fg tyf k|ljlw Science and Technology 
 

;doM– @ 306f (Time: 2 hours)      k"0ff{ÍM –%) Full mark -50 
 

;a} k|Zgx¿ clgjfo{ 5g\ . All questions are compulsory. 

tnsf ax'j}slNks k|Zgx¿sf] A B C / D  dWo] ;xL pQ/ 5fGg'xf];\        !)! cª\s!) cª\s 

Select the correct answer from A B C and D for the multiple choice questions below. 101mark = 10 marks 
 

1) ;fdfGotM cg';Gwfg sfo{sf] clGtd r/0f s'g xf] < Which is the last step of research work? 

A)  lgisif{ Conclusion    

B)  tYofÍ ;ª\sng Data collection 
C)  kl/sNkgf lgdf{0f Setting hypothesis    

D)  p2]Zo lgdf{0f Formulation of objective 
 

2) jg:klt sf]ifdf kfOg] t/ hgfj/ sf]ifdf gkfOg] cjoj s'g xf] < Which component is found 

in plant cell but not in animal cell? 

    

 

 

 
Figure A Figure B Figure C Figure D 

A)  lrq A Figure A    
B)  lrq B Figure B 

 C)  lrq C Figure C    
D)  lrq D Figure D 
 

3) s'g} ljBfyL{n] bfp/f hDdf ug{ hª\undf hfFbf Pp6f ;ª\s6fkGg hgfj/ e]6fP . To;nfO{ 

k/:yfgLo ;+/If0f ug{sf nflu s'g 7fpFdf k7fpg' pko'Qm x'G5 < One student found an 

endangered animal while collecting firewood from a jungle. Which ex-situ method is 

appropriate to conserve that animal? 

A)  /fli6«o lgs'~h National Park   
B)  jGohGt' cf/If0f If]q Wild life conservation area 
C)  lrl8ofvfgf  Zoo    
D)  lzsf/ If]q Hunting Area 
 

4) skf;sf] lap s'g k|lj|mofåf/f k|;f/0f x'G5 < By which method is the cotton seed dispersed? 
 A)  xfjfåf/f By air  

B)  r/fåf/f By birds 
 C)  ls/fåf/f By insects   

D)  kfgLåf/f By water 
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5) ;Fu}sf] lrqdf lbOPsf] k|of]usf] lgisif{ tnsf dWo] s'g xf] <What is the 

main conclusion of the experiment in the given figure? 
A) t/n kbfy{sf] rfk To;sf] 3gTjdf e/ kb{5 . The liquid pressure 

depends on its density. 

B) t/n kbfy{sf] rfk u'?Tjk|j]udf e/ kb{5 . The liquid pressure 

depends on acceleration due to gravity.           
C) t/n kbfy{sf] rfk To;sf] ulx/fOdf e/ kb{5 . The liquid pressure 

depends on its depth 

D) t/n kbfy{sf] rfk efF8f]sf] cfsf/df e/ kb{5 . The liquid pressure depends on the 

shape of the vessel. 

6) w]/} lr;f] jftfj/0fdf la?jfsf a]gf{x¿ pdfg{ s:tf] pkfo ckgfpg ;lsG5 <Which method 

should be applied to grow saplings of plant in a very cold environment? 

 A)  sf7n] ag]sf] 3/sf] k|of]u . Using house made of wood. 
 B)  Knfl:6sn] ag]sf] 3/sf] k|of]u . Using house made of plastic. 
 C)  k/fnn] ag]sf] 3/sf] k|of]u . Using house made of straw. 
 D)  df6f]n] ag]sf] 3/sf] k|of]u . Using house made of mud. 

7) ufx{:y ljB't kl/kydf cfjZostf eGbf a9L ljB't k|jfx x'Fbf cfk}m aGb eO{ b'3{6gfaf6 

arfpg] pks/0f s'g xf] < Which device is used to prevent the accident by cutting off the 

supply of electricity itself when high current flows through it? 
A)  ljt/0f af]8{ Distribution board   
B)  Pd ;L aL MCB 

 C)  Knu Plug      
D)  :jLr Switch 

8) tf/fk'~hsf] ljz]iftf s'g xf] < Which is the feature  of  Galaxy ? 
A) bL3{ j[Qfsf/, sdfgL cfsf/, clgoldt Elliptical, spring shape, irregular shape 

B) ljleGg hgfj/, j:t', pks/0fsf] cfsf/ Shape of various animal, object, 

instrument. 

C) cfˆgf] k|sfz gx'g], ;ª\Vofdf * j6f Does not have its own light, 8 in number. 

D) ;"o{sf] glhs cfpFbf a/km klUnP/ nfdf] s'rf] h:tf] cfsf/ aGg] Becomes like 

broom while reaching near to the Sun by melting of ice. 

9) DofUg]l;od Snf]/fO8sf] c0f';"q s'g xf] < Which is the molecular formula of 

Magnesium Chloride? 
 A)  MgCl     

B)  Mg2Cl3  

 C)  MgCl2     
D)  Mg2Cl 
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10) lbOPsf tŒjx¿sf] kf/df0fljs ;fOhsf] a9\bf] j|mddf ;xL qmd s'g xf] < Which is the 

correct order of elements based on increasing order of their atomic 

size?  
 A)  O, F, N      

B)  F, O, N 
 C)  O, N, F     

D)  N, O, F  

 

;d"x v Group B  

clt ;ª\lIfKt pQ/ cfpg] k|Zgx¿ Very short answer questions 
 

tnsf k|Zgsf] pQ/ n]Vg'xf];\ .  *! cª\s* cª\s 

Write answer to the questions below.                       8 1 mark = 8 marks 
 

11) ;fdflhs ;~hfnsf] k|of]u ubf{ tkfO{F o;sf] ;'/lIft k|of]usf nflu s'g kIfdf hf]8 lbg'x'G5 < 

Pp6f pko'St pkfo n]Vg'xf];\ . While using social network, which aspect do you 

focus on its safe use? Write one appropriate measure. 

12) tkfO{{Fn] cfˆgf] cWoognfO{ ;xh agfpg cfl6{lkml;on OG6]lnh]G;sf] k|of]u s;/L ug{  

;Sg'x'G5 < How can you use artificial intelligence to make your study easier? 
      

13) AofS6]l/ofnfO{ dfq} c;/ ug]{ efO/;nfO{ s] elgG5 < What is the virus called  that affects 

bacteria only? 

14) lrqdf OF6fx¿af6 kvf{nsf] lgdf{0f ePsf] b]vfOPsf] 5 . o;sf cfwf/df dfgj 

sf]ifnfO{ z/L/;Fu t'ngf u/L Ps jfSodf lgisif{ n]Vg'xf];\ . A wall constructed 

from bricks is shown in the figure. On the basis of this, compare 

human cell with human body and write the conclusion in one sentence. 

15) ahf/af6 lsg]/ NofPsf] a6\6fsf] crf/ nfdf] ;do;Dd l6S5 t/ 3/df agfPsf] crf/ l56} 

lau|G5 . o:tf] x'gfsf] d'Vo sf/0f n]Vg'xf];\ . The canned pickle purchased from the 

market can last for a long time but the pickle made at home is spoiled soon. Write 

the main reason of it. 

16) uf]nfsf/ P]gfdf s]Gb|Ls/0f ljGb' eg]sf] s] xf] <What is principle focus in a spherical 

mirror? 

17) tfdf / l6gsf] ld>0faf6 aGg] ldl>t wft' s'g xf] < Which alloy is made of copper and 

tin?  
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18) tflnsfdf b'O{j6f efF8fdf /flvPsf] kfgLsf] tfkqmd km/s km/s ;dodf slt 5 egL 

b]vfOPsf] 5 . The temperature of water in two containers at different time 

is shown in the table. 

efF8f] 

(Container) 

tfkqmd (Temperature) 

11:00 am 1:00 pm 03:00 pm 05:00 pm 

A. tfdfsf] efF8f]   

Copper container 
30

0
C 26

0
C 19

0
C 16

0
C 

B. df6fsf] efF8f] 

Earthen container 
26

0
C 25.5

0
C 25

0
C 24

0
C 

tflnsfdf efF8f] B df /flvPsf] kfgLsf] tfkqmd efF8f] A sf] t'ngfdf sd kl/jt{g x'g'sf] 

sf/0f s] xf] < What is the reason that the temperature in the water of container B 

changes very low in comparison to container A? 

 

;d"x u Group C 

;ª\lIfKt pQ/ cfpg] k|Zgx¿ Short answer questions 
 

tnsf k|Zgsf] pQ/ n]Vg'xf];\ .  *@ cª\s!^ cª\s 

Write answer to the questions below. 8 2 mark = 16 marks 

 

19)  k|of]uzfnfdf k|of]uffTds sfo{ ubf{ xfO8«f]Snf]l/s cDn Pshgf ljBfyL{sf] xftdf k/]/ hNof] . 

o:tf] b'3{6gf x'g glbgsf nflu ckgfpg' kg]{ s'g} b'O{ ;fjwfgLx¿ n]Vg'xf];\ . A student hand 

was burn with hydrochloric acid while doing practical work in laboratory. Mention any two 

safety measures to avoid such accident.  
20)  tkfO{Fsf] ;d'bfodf ;8s lgdf{0f x'Fb}5 eg] lbuf] ljsf;sf b[li6n] ;8s lgdf{0fstf{nfO{ tkfO{Fn] 

lbg] b'O{ ;'emfj lbg'xf];\ . If a road is being constructed in your community, Give 

two suggestion do you give to the constructor regarding sustainable 

development? 

21)  cfj[lQ 15 xh{ ePsf] Wjlgsf] t/ª\u nDafO 22 ld6/ 5 eg] pSt Wjlg t/ª\usf] j]u slt 

x'G5 < What is the speed of sound having frequency 15 hertz and a wavelength 22 

meter? 

22)  sGs]e P]gf / sGe]S; P]gflar logLx¿n] agfpg] cfs[ltsf ljz]iftfsf cfwf/df s'g} b'O{ 

km/s n]Vg'xf];\ . Write any two differences between concave mirror and convex 

mirror based on the features of the image formed by them. 
23)  r'DasLo zlSt x|f; x'Fbf r'Dasdf /x]sf c0f' r'Dassf] cj:yfdf x'g] kl/jt{gnfO{ lrqaf6 

b]vfpg'xf];\ . Draw a figure to Show the condition of molecular magnet in a 

magnet during demagnetization.     
24)  s'g O/fnfO{ hLj pTklQsf] k|lts"n O/f elgG5 / lsg < Which era was inappropriate 

for the evolution of life and why? 
25)  ;+o'Hotf ;]n eg]sf] s] xf] < o;df ePsf] On]S6«f]gnfO{ s] elgG5 < What is valance shell? 

What is the electron that lies in it called? 
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26)  k|f]6f]gsf] ;+Vof 13 / Go'6«f]gsf] ;ª\Vof 14 ePsf] tŒjx¿sf] k/df0f'sf] ;+/rgf agfO{ 

cfw'lgs k]l/of]l8s tflnsfdf o;sf] ;d"x klg n]Vg'xf];\ . Draw the atomic structure of 

the element having 13 protons and 14 neutrons and mention its group in modern 

periodic table. 
   

;d"x 3 Group D 
 

nfdf] pQ/ cfpg] k|Zgx¿ Long answer questions 
 

tnsf k|Zgsf] pQ/ n]Vg'xf];\ .  *@ cª\s!^ cª\s 

Write answer to the questions below. 8 2 mark = 16 marks  
 

27)   tkfO{Fn] cfk\mgf] lj1fg tyf k|ljlw ljifosf] kf7\ok':tssf] ;ˆ6 skL k|fKt ug{sf nflu tn 

lbOPsf dWo] s'g ;|f]tnfO{ pkof]u ug{ ;Sg'x'G5 < oxfF lbOPsf ;|f]tx¿nfO{  Pp6} gfdaf6 

;Daf]wg ug{ s'g zAbfjnL k|of]u x'G5 < oL ;|f]tx?sf] k|of]u ubf{ ckgfpg'kg]{ s'g} b'O{cf]6f 

;'/Iffsf] pkfox¿ n]Vg'xf];\ . Which of the following source do you use to get soft 

copy of your science and Technology textbook? Which single word can be used 

to represent the given sources? Write any two safety measures while using these 

sources.  
https://www.neb.gov.np 

http://www.learning.cehrd.edu.np 

https://www.moecdc.gov.np 

https://mofa.gov.np 

28)   ;–;fgf u'lnof ;'Gtnf kmNg] Pp6f Ps jif{ k'/fgf] la?jf 5 . Pp6f ;'Gtnfsf] af]6df 7"nf 

u'lnof ;'Gtnf kmN5g\ .  tL b'O{ af]6x? k|of]u u/L 7'nf / u'lnof ;'Gtnf kmnfpgsf nflu s'g 

k|hgg\ ljlw pko'St x'G5 < pQm ljlwsf] tLg r/0f j0f{g ug'{xf];\ . An one year old 

orange plant bearing small-sweet oranges is there. There is another tree bearing 

large sweet oranges. Which reproduction method is suitable for producing large 

and sweet oranges using these plants? Describe three steps of this method.   
 

29)  lbOPsf] lrq x]/L ;f]lwPsf k|Zgx¿sf] pQ/ lbg'xf];\ . Observe the figure and answer the 

questions that follows:   

A) of] s'g bhf{sf] pQf]ns xf] < Which class lever is this? 

B) o;sf] Pp6f jf:tljs pbfx/0f lbg'xf];\ . Write one real 

example of this. 

C) Okmf]6{ / nf]8sf] :yfg cfk;df kl/jt{g ubf{ of] s'g bhf{sf] pQf]ns x'G5 < o;/L aGg] 

pQf]nssf] Pp6f jf:tljs pbfx/0f lbg'xf];\ . Which class lever will be formed on 

interchanging the position of effort and load in the given lever? Give one 

real example of thus formed lever. 

  

https://www.moecdc.gov.np/
https://mofa.gov.np/
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30)  b'O{cf]6f gd'gfsf] ljleGg ;"rs kbfy{;Fu k|ltlj|mof u/L k|fKt glthfnfO{ tnsf] tflnsfdf 

b]vfOPsf] 5 M Result obtained by reacting two samples with a different indicators 

are shown in the table below:    
k/LIf0f gd'gf  

Sample 
ldyfOn c/]Gh 

Methyl Orange 
ln6d; k]k/ 

Litmus Paper 
k]mgf]Nˆyflng 

Phenolphthalein 
gd'gf A (Sample A) X /ftf] (Red) /ªxLg (Colourless) 
gd'gf B (Sample B) kx]nf] Yellow Y u'nfkmL (Pink) 

A)  X / Y n] s'g s'g /ªsf] ;ª\s]t u5{g\ . Which colour do X and Y represent? 

B)  gd'gf A / B dWo] s'gn] cDnLo kbfy{ hgfpF5 < Which sample represents acidic 

substance between A and B? 

C) gd'gf A / B dWo] s'gn] SoflN;od sfaf]{g]6;Fu k|ltlj|mof ubf{ sfa{g8fOcS;fO8 UofF; 

lbG5 < Between A and B, which will produce carbon dioxide gas when reacts 

with calcium carbonate?  
 

-The end- 
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Marking Scheme 

Group A 

Question from 1 to 10 carries 1 mark for each 

1) A) lgisif{ Conclusion 

2) =C) lrq C Figure C 

3) C) lrl8ofvfgf  Zoo 

4) A) xfjfåf/f By air   
5) C) t/n kbfy{sf] rfk To;sf] ulx/fOdf e/ kb{5 . The liquid pressure depends on its depth 

6) B) Knfl:6sn] ag]sf] 3/sf] k|of]u . House made of plastic. 
7) B) Pd ;L aL MCB 
8) A) bL3{ j[Qfsf/, sdfgL cfsf/, clgoldt Elliptical, spring shape, irregular shape 

9) C)  MgCl2  

10) B) F, O, N 

 

Group B 

 

11) ;fOa/ g}ltstf ckgfO{ ;fOa/ sfg'gsf] kfngf ug]{ Follow cyber ethics and cyber law 

Or 

 ckl/lrt JolStnfO{ ;fyL gagfpg]  Stranger should not be made friend  

Or 

 yfxf gePsf] lnª\sdf lSns gug]{  Should not click on unknown link 

Or 

 ;fdflhs ;~hfn k|of]u ubf{ alnof] kf;j8{ k|of]u ug]{ Using strong password while using social 

network  

Or any other such correct response                                                  1 mark 

12)  cGtl/If cWoogdf AI k|of]u u/]/  Using Al in Astronomy study 

Or 

:jf:Yo ;]jfdf AI k|of]u u/]/ Using AI in Healthcare 

Or 

Gaming df AI  k|of]u u/]/ Using AI in Gaming 

Or any such other correct application                                             1 mark 

13) JofS6]l/of]k]mh efO/; Bacteriophage Virus                                          1 mark 

14) dfgj z/L/ ;'Id PsfO sf]ifx¿ ldn]/ ag]sf] x'G5, h;/L OF6fx¿ ldn]/ kvf{n ag]sf] x'G5 . Human 

body is made up of smallest units called cells like the bricks in the wall.    1 mark  

 

15) ahf/af6 NofPsf] crf/df k'm8 lk|he]{l6e -Pl;l6s Pl;8_ ld;fOG5 h;n] crf/nffO{ lau|g lbFb}g . Use 

of food preservative (acetic acid) as a preservative does not allow pickle to spoiled.    1 mark 
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16) k|d'v cIf;Fu ;dfgfGt/ k|sfzsf ls/0fx? uf]nfsf/ P]gfaf6 k/fjt{g eO{ k|d'v cIfdf e]6 x'g] ljGb'nfO{ 

s]Gb|Ls/0f ljGb' elgG5 . The point in principal axis where the rays of light parallel to principal 

axis meet after reflection through the spherical mirror is call focal point.  1 mark 

17) sfF; Bronze           1 mark 

18) df6f]sf] efF8f] tfksf] s'rfns ePsfn] tfk k|;f/0f sd x'G5 . Earthen pot is bad conductor of heat 

so there is less transfer of heat        1 

mark 

 

Group C 

19)  1 mark for 1 correct precaution, maximum 2 marks. 
 k~hf clgjfo{ ¿kdf k|of]u ug]{ . Use of  gloves compulsorily. 

 cDn k|of]u ubf{ lkk]6 jf nfdf] ;fOhsf] lkmn/ k|of]u ug]{ . Acid should be used with the help 

of pippet or long filler 

 Pk|f]g jf Nofa sf]6 k|of]u ug]{ .Use of apron and lab coat. 

 or, cGo s'g} pko'Qm b'O{ a'Fbf any other two suitable answers 

20)  1 mark for 1 correct response, maximum 2 marks. 

 kfl/l:ylts k4lt tyf h}ljs ljljwtf ;+/If0f u/L lgdf{0f sfo{ ug'{k5{ . Construction is to be 

carried by conserving ecosystem or biodiversity. 

 lbuf] ljsf;sf l;4fGtx? ckgfpg' k5{ .Follow the principles of sustainable development 

 cGo s'g} pko'Qm b'O{ a'Fbf any other two suitable answers 

21)  Solution 

Given :  

Frequency = 15Hz 

Wavelength= 22m 

Wjlgsf] j]u  cfj[lQ × t/ª\u nDafO{ 

     Speed = Frequency × wave length                 1 mark 

Speed= 15 × 22= 330 m/s                             1 mark 

22)  Each correct difference carries 1 mark, maximum 2 marks 

sGs]e P]gf  Concave Mirror sGe]S; P]gf Convex Mirror 
jf:tljs Real cjf:tljs Virtual 
pN6f] Inverted ;'N6f] Erect 
j:t'sf] :yfg cg';f/ ;fgf] jf 7'nf] Samll or large 

as per position of object ;fgf] Small 

  

 

23)  r'Dasdf /x]sf c0f' r'Dassf] cj:yf b]lvg] lrq agfPdf for drawing correct picture     1 mark 

r'DasLo zlSt x|f; x'Fbf r'Dasdf /x]sf c0f' r'Dassf] cj:yf b]lvg] lrq agfPdf for drawing 

correct picture                         1 mark 
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24) cfls{of]HjfOs O/fnfO{ hLj pTklQsf] k|lts"n O/f elgG5 . Archeozoic era was inappropriate for 

the evolution.              1 mark                      

Tolta]nf k[YjLdf pko'St ef}lts jftfj/0f lyPg . -k[YjL lgs} tftf] lyof] ._ The Earth had no 

suitable physical environment. (Earth was very hot)                    1 mark 

25) tTjsf] k/df0f'sf] ;a}eGbf aflx/L ;]n Outermost orbit of an atom.        1 mark 

Eofn]G;  On]S6«f]g Valance electron                           1 mark 

26) PNd'lgodsf] kf/df0fljs ;+/rgf agfPdf  Drawing Atomic structure of  

Aluminium               1 mark 

;d"x IIIA/13  Group IIIA/13                     1 mark 

 

 

 

Group D 

27) https://www.moecdc.gov.np                                                 1 mark 

 j]a;fO6 Website                                                              1 mark 

 for a correct safety measure  1 mark maximum 2 marks 

 ;'/lIft j]a;fO6x? dfq k|of]u ug]{ Using only safe websites 

 PlG6efO/;sf] k|of]u Using antivirus  

 cGo s'g} pko'Qm pkfo any other suitable measure………… 

28) u|flˆ6ª Grafting                                                              1 mark  
 

u|flˆ6ªsf r/0fx¿ Steps of grafting   
 Ps jif{ k'/fgf] ;'Gtnfsf] af]6sf] dflysf] efu sf6]/ lgsfnL tnsf] efunfO{ :6ssf] ¿kdf k|of]u ug]{  

Upper part of one year old orange plant should be thrown to make it  

stock           1 mark 

 7'nf kmn kmNg] ;'Gtnfsf] af]6sf] xfFufnfO{ ;fogsf] ¿kdf k|of]u ug]{  A healthy branch of 

orange bearing large oranges should be taken as scion.           1 mark                        

 :6sdf ;fognfO{ /fd|f];Fu hf]8]/ u|flˆ6ª 6]kn] xfjf gl5g]{ u/L /fd|f];Fu afFWg] . Stock and scion 

should be connected correctly and bind tightly with grafting tape without 

any air space.               1 mark           
 

https://www.moecdc.gov.np/
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29) s= bf];|f] bhf{ Second Class                                      1 mark 

v= Pskfª\u|] 7]nfuf8f One wheel Barrow   or any other example         1 mark 

u= t];|f] bhf{ Third Class                                         1 mark 

s'rf]– Broom or any other correct example      1 mark 

30) s= X /ftf] (Red) / Y lgnf]] (Blue)                                              1+ 1 mark                                        

v= gd'gf A (Sample A)                                                     1 mark 
u= of] cDn ePsfn] o;n] SoflN;od sfaf]{g]6;Fu k|ltlj|mof ubf{ wft'sf] nj0f / sfa{g8fOcS;fO8 UofF; 

lbG5 . As it is acid it reacts with calcium carbonate to produce metallic salt 

and carbon dioxide gas.      

1 mark 
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Sample of a test matrix Science and Technology  

Content 

Knowledge Understanding Application Higher Ability 
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S
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1) Scientific 

Learning 1          2      
9 

3 
9 

3 

2) ICT      1    1      4 6 6 

3) Organism 

& their 

Structure 
 1   1     1    1   

12 

4 

12 

4 

4) Bio-

diversity & 

Environme

nt 

      2  1        2 3 

5) Life 

Process 
1           4     6 5 

6) Force 

and Motion        4     1    

18 

5 

18 

5 

7) Energy 

in Daily 

Life 

 1     2  1  2   1   7 7 

8) Electricity 

and 

Magnetism 
    1          2  3 3 

9) Earth 

and Space       2  1        3 3 

10) Matter   2  1      2  1    

11 

6 

11 

6 

11) 

Materials 

used in 

daily life 

   4  1           5 5 

Total  2 2 2 4 3 2 6 4 3 2 6 4 2 2 2 4 50 50 50 50 
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Item format requirement in the Science and Technology subject 

Type of item 

 

W
eig

h
ta

g
e  

p
er item

 

  No of items Weightage 
T

o
ta

l n
o
. o

f 

q
u

estio
n

s 

T
o

ta
l 

w
eig

h
ta

g
e   

K U A HA K U A HA 

1) Multiple Choice Question 1 2 3 3 2 2 3 3 2 10 10 

2) Very Short Answer Question 1 2 2 2 2 2 2 2 2 8 8 

3) Short Answer Question 2 1 3 3 1 2 6 6 2 8 16 

4) Long Answer Question 4 1 1 1 1 4 4 4 4 4 16 

Total  6 9 9 6 10 15 15 10 30 50 

 

Contributors: NEB Item Development Training Participants, Dang 2081, Mansir 

 


